
i.e. Martin Duffusl has to finnish by 9.5 min per hour 
ahead of Mark McAuthur in order to beat him on corrected time.
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Martin Duffus 0.0 8.8 3.8 9.5 9.1 10.4 13.6 12.3 19.4 8.2 4.2 13.5
John Neal -8.8 -5.0 -5.0 0.7 0.3 1.6 4.7 3.5 10.6 -0.6 -4.6 4.7

Alastair MacMaster -3.8 5.7 0.0 5.7 5.3 6.7 9.8 8.5 15.6 4.4 0.4 9.7
Mark McArthur -9.5 -0.4 -5.7 0.0 -0.4 1.0 4.1 2.8 9.9 -1.3 -5.3 4.0
Charlie Coxwell -9.1 1.3 -5.3 0.4 0.0 1.3 4.4 3.2 10.3 -0.9 -4.9 4.4
Michael Webb -10.4 3.1 -6.7 -1.0 -1.3 0.0 3.1 1.9 8.9 -2.2 -6.2 3.1

John Gunn -13.6 -1.3 -9.8 -4.1 -4.4 -3.1 0.0 -1.3 5.8 -5.3 -9.4 -0.1
Jim Beckwith -12.3 7.1 -8.5 -2.8 -3.2 -1.9 1.3 0.0 7.1 -4.1 -8.1 1.2

Richard Payne -19.4 -11.2 -15.6 -9.9 -10.3 -8.9 -5.8 -7.1 0.0 -11.2 -15.2 -5.9
Stuart Schofield -8.2 -4.0 -4.4 1.3 0.9 2.2 5.3 4.1 11.2 0.0 -4.0 5.3

Terry Flinn -4.2 9.3 -0.4 5.3 4.9 6.2 9.4 8.1 15.2 4.0 0.0 9.3
Chris Hare -13.5 -68.3 -9.7 -4.0 -4.4 -3.1 0.1 -1.2 5.9 -5.3 -9.3 0.0


